PERCENTAGES: Find a percentage of a given amount (whole numbers)

Calculate percentages of given amounts. Round to 2 d.p. e

[11 9% of3190= [2] 81%of3004=
[41 76% of 8025 = [51 25%0f8276=
[71 67%o0f7644 = [8] 15%o0f936=
[10] 23% of 3466 = [11] 87% of 6273 =
[13] 28% of 6233 = [14] 32% of 790 =
[16] 56% of 448 = [17] 92% of 7222 =
[191 23% of 6207 = [20] 14% of 4204 =
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Name:

3]

[6]

[9]

[12]

[15]

(18]

[21]

8% of 5535 =

62% of 1568 =

49% of 1950 =

56% of 6760 =

59% of 1503 =

18% of 7051 =

3% of 5680 =



ANSWERS

PERCENTAGES: Find a percentage of a given amount (whole numbers)
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Date: Name:
Calculate percentages of given amounts. Round to 2 d.p.
[1] 9% of 3190 =287.10 [2] 81% of 3004 =2,433.24 [3] 8% of 5535 =442.80
[4] 76% of 8025 =6,099.00 [5] 25% of 8276 =2,069.00 [6] 62% of 1568 =972.16
[7] 67% of 7644 =5,121.48 (8] 15% 0f 936 =140.40 [91 49% of 1950 =955.50
[10] 239% of 3466 =797.18 [11] 87% of 6273 =5,457.51 [12] 56% of 6760 =3,785.60
[13] 28% of 6233 =1,745.24 [14] 329% 0of 790 =252.80 [15] 599% of 1503 =886.77
[16] 56% of 448 =250.88 [17] 929% of 7222 =6,644.24 [18] 18% of 7051 =1,269.18

[19] 23% of 6207 =1,427.61 [20] 14% of 4204 =588.56 [21] 3% of 5680 =170.40



